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QUESTION 1

The following SAS program is submitted: 

; 

%let development = ontime; 

proc print data = sasuser.highway; 

title "For anddept"; 

title2 "This project was completed anddevelopment"; run; 

Which one of the following statements completes the above and resolves title1 to "For researchanddevelopment"? 

A. %let dept = %str(researchanddevelopment); 

B. %let dept = %str(research%anddevelopment); 

C. %let dept = %nrstr(researchanddevelopment); 

D. %let dept = %nrstr(research%anddevelopment); 

Correct Answer: C 

 

 

QUESTION 2

Given the following SAS data sets ONE and TWO: 

ONE TWO 

YEAR QTR BUDGET YEAR QTR SALES 

------------------------------- ----------------------------- 2001 3 500 2001 4 300 

2001 4 400 2002 1 600 

2002 1 700 

The following SAS program is submitted: 

proc sql; 

select one.*, sales 

from one left join two 

on one.year = two.year; 

quit; 
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Which one of the following reports is generated? 

A. YEAR QTR BUDGET SALES 2001 3 500 . 

B. YEAR QTR BUDGET SALES 

2001 4 400 300 

2002 1 700 600 

C. YEAR QTR BUDGET SALES 

2001 3 500 . 

2001 4 400 300 

2002 1 700 600 

D. YEAR QTR BUDGET SALES 

2001 3 500 300 

2001 4 400 300 

2002 1 700 600 

Correct Answer: D 

 

 

QUESTION 3

Which one of the following automatic SAS macro variables contains the return code from a previously executed step? 

A. andRC 

B. andERR 

C. andSYSRC 

D. andSYSERR 

Correct Answer: D 

 

QUESTION 4

Given the following SAS data set ONE: 

ONE 

CATEGORY AGE SALARY BONUS 

------------------------------------------------------- M 28 200 20 
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M 25 100 10 

M 28 300 10 

M 33 300 30 

F 18 100 50 

F 25 200 10 

F 35 50 

The following SAS program is submitted: 

proc sql; 

select distinct category, 

sum(sum(salary,bonus)) as EARNINGS 

from one 

where age 

group by category 

having calculated EARNINGS 

quit; 

Which one of the following reports will be generated? 

A. CATEGORY EARNINGS 

F 360 

B. CATEGORY EARNINGS 

M 640 

F 360 

C. CATEGORY EARNINGS F 150 

F 210 

D. CATEGORY EARNINGS M 220 M 110 M 310 F 150 F 210 

Correct Answer: A 

 

 

QUESTION 5

The following SAS program is submitted: 
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data one; 

do i = 1 to 10; 

ptobs = ceil(ranuni(0) * totobs); 

set temp point = ptobs 

nobs = totobs; 

output; 

end; 

stop; 

run; 

The SAS data set TEMP contains 2,500,000 observations. Which one of the following represents the possible values for
PTOBS? 

A. any integer between 1 and 10 

B. any real number between 0 and 1 

C. any integer between 1 and 2,500,000 

D. any real number between 1 and 2,500,000 

Correct Answer: C 
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